LX0914 MINI PROTOS - ULTRA TAIL CASE - SILVER
LX0915 MINI PROTOS - ULTRA TAIL CASE - RED
LX0916 MINI PROTOS - ULTRA TAIL CASE - BLACK

STEP 1 STEP 2 STEP 3
DR1093
2xMF52_77C DR1095 Mini protos - Tail case
‘ Flange_bearings_2x5x2.5 Miniprotos - Tail case right side -

| Y

Loctite 648

DR1096
Miniprotos - Bell crank support

STEP 5

DR1094
Miniprotos - Tail case left side

Loctite 648

MR684_77-W4 -NKS
Radial bearing 4x9 W4 - NKS Japan

Page 01

MR684_77-W4 -NKS
Radial bearing 4x9 W4 - NKS Japan

STEP 6

2 x TCEM2X5

STEP 7

2 x DR1097
Bushing 2x4x3.65

DR1098
Miniprotos - Tail pulley tensioner

2 x DR0354
Shim washer 4.05X5H0.1
Loctie 648

Loctite 648

2 X MR7477-W2.5
Radial Bearing 4x7 W2.5
Loctite 648

Hex cup screw M2X5

LYNX MANUAL DOC .REV .A 06-06-2014

STEP 4
Assembly step 1¢

RC

2 x TBEM2X4
Bottom hex cup screw M2X4
Hex socket 1.5

TCEM2X14
Hex cup screw M2X14

Loctite 242

HELI INNOVATIONS




LYNX MANUAL DOC .REV .A 06-06-2014

LX0914 MINI PROTOS - ULTRA TAIL CASE - SILVER
LX0915 MINI PROTOS - ULTRA TAIL CASE - RED
LX0916 MINI PROTOS - ULTRA TAIL CASE - BLACK

STEP 8

Tail boom

2 holds must to
be concentric
STEP 9 2 x TCEM2X16

Hex cup screw M2X16 Shouldered STEP 10

Assembly
Tail gear with
tail shaft STD

Miniprotos - Vertical fin pin lock

Loctite 242 7

Shim 4.1x6x0.1

Add extra shim fo
remove any fail shaft
vertically play

Loctite 242

2 x TCEM2X5
Hex cup screw M2X5

TCEM2X10
Hex cup screw M2X10

Miniprotos-Vertical fin——= Loctite 242

HELI INNOVATIONS
Page 02



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10

	Sheet2
	Drawing View11
	Drawing View12
	Drawing View13


